



**GRV for Dannic - LRSA NR: 14218 (GRV)**

**Receiver:** Tinyiko Mohlala  
**Checker:** Tinyiko Mohlala  
**Warehouse:** LR DBN  
**Sender Ref 1:** IBT250224.02/020

**Receive Date:** 2025-02-27  
**WarehouseRecv:** LR JHB  
**Sender Ref 2:** 66951

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
<b>Stock Received</b>					
694742	BELLS EXTRA (12 X 750ML)			70	840
787584	CM BLACK JAMAICA RUM 750 ML			75	900
789420	GORDONS GIN 12 X 1L			90	1080
789359	GORDONS DRY GIN 750ML (12 X 750ML)			260	3120
787268	SMIRNOFF 1818 (12 X 500ML)			140	1680
787269	SMIRNOFF 1818 VODKA 200ML			216	10368
789360	GORDONS DRY GIN (12 X 200ML)			896	10752
679415	J and B RARE (12 X 750ML)			70	840
771708	TANQ LONDON GIN 75CL (12 X 750ML)			60	720
779054	GORDONS PINK BERRY (12 X 750ML)			70	840
779077	GORDONS SUNSET ORANGE (12 X 750ML)			70	840
782594	VAT 69 (12 X 750ML)			70	840
777893	JW BLACK 75CL 12Y (12 X 750ML)			64	768
787582	CM ORIGINAL SPICED 75CL			75	900
694741	BELLS EXTRAWHISKY (12 X 1L)			55	660
782656	BELLS EXTRA SPL 20CL (48 X 200ML)			42	2016
733882	JW GOLD LABEL RSV 75CL (6 X 750ML)			15	90
765862	THE SINGLETON OF DUFFTOWN 12 YO 43			10	60
777739	JW DBL BLCK 75CL (6 X 750ML)			10	60
683749	J and B RARE (12 X 1L)			35	420
760013	SMIRNOFF INFUSIONS RASBERRY PASSION (12 X			20	240
765053	WHITE HORSE (12 X 750ML)			15	180
752491	JW RED (12 X 1L)			30	360
782657	J B RARE 20CL (24 X 200ML)			20	480
694738	BELLS EXTRA SPL (24 X 375ML)			30	720

Checked By: Tinyiko

Transport Company: LR

27/02/2025 03:22:36 PM

Receiver: JBK124FS

Checker: ABEL

Driver Signature: LR Driver left



Liquor Runners

012-010-3142

Shaun@lrsa.co.za

Liquor Runners Johannesburg

Http://www.lrsa.co.za

**GRV for Dannic - LRSA NR: 14218 (GRV)**

**Receiver:** Tinyiko Mohlala  
**Checker:** Tinyiko Mohlala  
**Warehouse:** LR DBN  
**Sender Ref 1:** IBT250224.02/020

**Receive Date:** 2025-02-27  
**Warehouse Recv:** LR JHB  
**Sender Ref 2:** 66951

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
790524	GORDONS DRY GIN 5CL(48 X 50ML)			45	2160
748480	CAPTAIN MORGAN SPICED (12 X 200ML)			56	672
733876	JW GREEN LABEL 75CL 15Y (6 X 750ML)			10	60
774766	SMIRNOFF INFUSIONS WATERMELON & MINT (12			15	180
760014	SMIRNOFF PINEAPPLE CRANBERRY & LEMO (12 X			20	240
				2,654.00	43,086.00
			<b>Total QTY Received</b>	<b>2,654.00</b>	<b>43,086.00</b>

Checked By: \_\_\_\_\_

Transport Company: \_\_\_\_\_

27/02/2025 03:22:36 PM

**Receiver:** JBK124FS

**Checker:** ABEL

**Driver Signature:** \_\_\_\_\_

# LIQUOR RUNNERS

Durban *cege008*

Start time: 11:45  
Finish time: 12:24

## GOODS RECEIPT / ISSUE

No 54662

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME *Abel*

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)	<i>LR</i>
LOAD SHEET No: <i>JBT250224-02 6096</i>	VEHICLE REG No: <i>JBL124FS</i>
CUSTOMER <i>JHB Dennis JBT</i>	DATE RECEIVED <i>26/02/2025</i>

### UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) <i>JTB Rare 750ml</i>	<i>70</i> ✓	<i>1P</i>			
2) <i>Vet 69 750ml</i>	<i>70</i> ✓	<i>1P</i>			
3) <i>Bellis extra 8P 375ml</i>	<i>30</i> ✓				
4) <i>Gordon's Dry Gin 500ml</i>	<i>45</i> ✓				
5) <i>JW DBL Black 750ml</i>	<i>10</i> ✓				
6) <i>CPT Spiced Gold S</i>	<i>56</i> ✓				
7) <i>zooml</i>					
8) <i>Bellis Extra 8P 200ml</i>	<i>42</i> ✓				
9) <i>JTB Rare 200ml</i>	<i>20</i> ✓				
10) <i>JW Red Label 1000ml</i>	<i>30</i> ✓				
11) <i>White Horse 750ml</i>	<i>15</i> ✓				
12) <i>JW Green Label 750ml</i>	<i>10</i> ✓				
13) <i>JW Gold R8V 750ml</i>	<i>15</i> ✓				
14) <i>JTB Rare 1000ml</i>	<i>35</i> ✓				
15) <i>Skeleton 12yrs 750ml</i>	<i>10</i> ✓				
16) <i>Smirnoff infusion wa</i>	<i>25</i> ✓				
17) <i>fermelon &amp; mint 750ml</i>					
18) <i>Smirnoff Raspberry passion</i>	<i>20</i> ✓				
19) <i>fruit 750ml</i>					
20) <i>Smirnoff Pineapple &amp; Lime</i>	<i>20</i> ✓				
PALET CONTROL: GKN BLUE <i>30#1</i>					
OTHER					
<b>TOTAL</b>					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <i>Thobani</i>	DRIVER: <i>Abel</i>
TIME COMPLETED: _____	PAGE: <i>2</i> PAGE: <i>2</i>

# Warehouse IBT Delivery Note

Dannic Wines and Spirits (Pty) Ltd

**From: 020** · Liquor Runners DBN  
 Clairwood Logistics Park, Unit 3A  
 Corner of M4 & Basil February Road  
 Clairwood  
 T: 031 023 1141

Manager: Selwyn Kok  
 Telephone: T: 031 023 1141  
 Fax:

**To: 011** · Liquor Runners JHB  
 Industrial Estate; Unit1  
 21 Purlin Street North  
 Clayville East; Olifantsfontein  
 T: 012 010 3142

Reference: IBT FROM DBN TO JHB

IBT Number	Date Issued	In Transit Warehouse	Delivery Note Number
IBT250224.02	25/02/2025	GIT Goods In Transit	IDEL00138

Item Code	Item Description	Item Description	Qty Issued	Qty Received
694742	Bells Extra Special 750ml	Case 12 x 750ml	70.00	70
694741	Bells Extra Spl 1L	Case 12 x 1 L	55.00	55
782656	Bells Extra Spl 200ml	Case 48 x 200ml	42.00	42
694738	Bells Extra Spl 375ml	Case 24 x 375ml	30.00	30
779054	Gordons Pink Berry	Case 12 x 750ml	70.00	70
779077	Gordons Sunset Orange	Case 12 x 750ml	70.00	70
683749	J&B Rare 1L	Case 12 x 1 L	35.00	35
679415	J&B Rare 750ml	Case 12 x 750ml	70.00	70
777739	Johnnie Walker Dbl Black 750ml	Case 06 x 750ml	10.00	10
733882	Johnnie Walker Gold Rsv	Case 06 x 750ml	15.00	15
733876	Johnnie Walker Green Label 15Y	Case 06 x 750ml	10.00	10
752491	Johnnie Walker Red 1L	Case 12 x 1 L	30.00	30
760013	Smirnoff Inf Raspberry/Passion	Case 12 x 750ml	20.00	20
774766	Smirnoff Inf Watermelon/Mint	Case 12 x 750ml	15.00	15
760014	Smirnoff Inf Pineapple/Cranberry/Lemon	Case 12 x 750ml	20.00	20
771708	Tanqueray London Gin	Case 12 x 750ml	60.00	60
765862	The Singleton - Dufftown 12 YO	Case 06 x 750ml	10.00	10
782594	Vat 69	Case 12 x 750ml	70.00	70
765053	White Horse Fo 750ml	Case 12 x 750ml	15.00	15
777893	Johnnie Walker Black 12Yo 750ml	Case 12 x 750ml	64.00	64
787586	Captain Morgan Spiced Gold 200ml 12X01 - New Label	Case 12 x 200ml	56.00	56
787584	Captain Morgan Black Jam Rum 750ml - New Label	Case 12 x 750ml	75.00	75
787582	Captain Morgan Spiced Gold 750ml - New Label	Case 12 x 750ml	75.00	75
787269	Smirnoff 1818 200ml 4 x (12 x 200ml) - New Pack	Case 48 x 200ml	216.00	216
787268	Smirnoff 1818 500ml - New Pack	Case 12 x 500ml	140.00	140
790524	Gordons Dry Gin 50ml (12s) 48X01 - New Pack	Case 48 x 50ml	45.00	45
789360	Gordons Dry Gin 200ml - New Pack	Case 12 x 200ml	896.00	896
789359	Gordons Dry Gin 750ml - New Pack	Case 12 x 750ml	260.00	260
789420	Gordons Dry Gin 1L - New Pack	Case 12 x 1 L	90.00	90
782657	J&B Rare 200ml - New Pack	Case 24 x 200ml	20.00	20

TOTAL PALLETS | 28.82

TOTAL QTY: 2 654.00

Received by: Tinyiko  
 Date: 27/02/2025  
 Signed: [Signature]

Driver: Abel

Sign: [Signature]

Still Checking

Date: 26/02/25

Clairwood Logistics Park  
 Basil February Road  
 Moberi East  
 4060



Selwyn@lrna.co.za

Liquor Runner Clairwood Clairwood

Http://www.lrsa.co.za

**IBT INSTRUCTION / DISPATCH NOTE**  
**CONSIGNEE - LR JOHANNESBURG W&S IBT**

<b>Dannic</b>	
<b>TOTAL QUANTITY FOR IBT: 0</b> Number of Chepp: <b>30</b>	<b>PRINCIPAL REFERENCE NUMBER</b> <b>IBT250224.02/020/IBT250224.02IBT</b>
<b>IBT SPECIAL INSTRUCTIONS</b>	
Transport Company: <span style="border: 1px solid black; padding: 2px;">LR Primary</span>	Driver Name: <span style="border: 1px solid black; padding: 2px;">Abel Monareng</span>
<b>Expected Delivery Date: 2025-02-27</b>	Truck Reg Nr: <span style="border: 1px solid black; padding: 2px;">JBK124FS</span>
Transport Reference: <span style="border: 1px solid black; padding: 2px;">66951</span>	Dispatch Date: <span style="border: 1px solid black; padding: 2px;">2025-02-26</span> Dispatch Time: <span style="border: 1px solid black; padding: 2px;">13:00</span>
Driver Signature:	LR Signature:

No. of Seals	Received by Driver	Seal Number
1		0086901
2		0086902
3		0086903
4		0086904
5		0086905
6		0086906
7		0086907
8		0086908
9		0086909
10		0086910
11		
12		



A Brambles Company

# TRANSFER HIRE ADVICE NOTE 424 0736949

Sending Location Account Number:  
 2700048255  
 Sending Location Name:  
 LR CHANWOOD

Sending Location Details:  
 Pockets 3A  
 Chanwood

Receiving Location Account Number:  
 2700048487  
 Receiving Location Name:  
 LR SHB DYNAMIC

Receiving Location Details:  
 21 PULIN SW NORTH  
 CLOYDIE EAST, OLFUNGSPONKUN.

Reference Number 1:  
 16525022402  
 Reference Number 2:  
 Reference Number 3:

Reference Description:  
 Reference Description:  
 Reference Description:

Effective Transfer Date:  
 26 02 2025  
 Registration Number / Truck Number:  
 JBL124F5  
 Driver's Name:  
 ABC1

Receiv. Date:  
 2 0  
 Checker By Name:  
 Checked Signature:

Equipment Code	Quantity	Equipment Description
	030	

Equipment Code	Quantity	Equipment Description

CHEP never sells or transfers ownership of its Equipment. Unauthorised trading, appropriation, use or disposal of CHEP equipment is strictly prohibited. Report Illegal Activity - Contact Trip-Offs Anonymous on 0800 003 310 or email [chep@tip-offs.com](mailto:chep@tip-offs.com)

CHEP Help line: Toll free - 0800 330 334  
 Mail: [za\\_info@chep.com](mailto:za_info@chep.com)